Итоги  успеваемости  учащихся  по _____________________________ за   2009-2010 уч.год

                                                                                   (предмет)  

	  ФИО  учителя 
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	1ч
	2ч
	3ч
	4ч
	год
	Класс
	1ч
	2ч
	3ч
	4ч
	год

	Количество учащихся
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	На    «5»
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	%  СОУ
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	1ч
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	3ч
	4ч
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	1ч
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	4ч
	год

	Количество учащихся
	
	
	
	
	
	Количество  учащихся
	
	
	
	
	

	На    «5»
	
	
	
	
	
	На    «5»
	
	
	
	
	

	         «4»
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	%  СОУ
	
	
	
	
	

	

	Класс
	1ч
	2ч
	3ч
	4ч
	год
	Класс
	1ч
	2ч
	3ч
	4ч
	год

	Количество учащихся
	
	
	
	
	
	Количество  учащихся
	
	
	
	
	

	На    «5»
	
	
	
	
	
	На    «5»
	
	
	
	
	

	         «4»
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	         «3»
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	Класс
	1ч
	2ч
	3ч
	4ч
	год
	Всего 
	1ч
	2ч
	3ч
	4ч
	год

	Количество учащихся
	
	
	
	
	
	Количество  учащихся
	
	
	
	
	

	На    «5»
	
	
	
	
	
	На    «5»
	
	
	
	
	

	         «4»
	
	
	
	
	
	         «4»
	
	
	
	
	

	         «3»
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	%  СОУ
	
	
	
	
	


               СОУ = К5*1 + К4*0,64 +  К3*0,36 + К2*0,16 :  К       (К общее количество обучающихся)

